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Read the passage below and answer the questions that follow: (questions 1-4)

Orville and Wilbur Wright, the inventors of the first flying machine, had always had a compelling interest
in aeronautics and mechanics. As young boys, they earned money by making and selling kites and
mechanical toys. Later, they built a printing press and operated a bicycle-repair shop. In 1903, the Wright
brothers built their first airplane.

They even designed and built their own source of propulsion — a lightweight gasoline engine. By 1905,
they had perfected the first ah-plane_that could remain airborne for half an hour at a time.

As the contributors of one of the most outstanding engineering achievements in history, the Wright brothers
are called the fathers of aviation.

01. The Wright brothers are called the fathers of aviation because they- [Ans: b]
(a) flew the first flying machine (b) invented and flew the first flying machine
(c) designed flying machines for airlines (d) designed flying machines that could land on water.

02. The Wright brothers made toys that- [Ans: ¢]
(a) used gasoline as their source of propulsion (b) could fly
(c) they sold for money (d) they sold for building their first flying machine.

03. The Wright brothers’ interest in aeronautics led to- [Ans: b]
(a) a foolish thought (b) an invention
(c) a failure (d) a university degree for each.

04. A similar word to “propulsion” is- [Ans: a]
(a) energy (b) compulsion (c) flight (d) thrust

05. Which word is a synonym for “hostile’? [Ans: b]
(a) Unfriendly (b) Friendly (¢) Distant (d) Disgusting

06. Choose the appropriate pair of words matching the relationship suggested in the pair FANS: GALLERIES

[Ans: c]

(2) Teams: Goalposts (b) Referce: Decisions (c) Audience: Seats (d) Counters: Tickets

07. A community of living and non-living things that work together is known as . [Ans: b]
(a) vegetation (b) ecosystem (c) cosmos (d) hydrology

08.  Mangroves are a group of trees and shrubs that grow in- [Ans: d]
(a) dry areas (b) mango orchards (c) man-made groves (d) swamps

09. Hydrophobia is the fear of- [Ans: c]
(a) snakes (b) hydrogen bombs (c) water (d) darkness

10. What is the correct part of speech of the underlined word? He was never the wiser for his experience.
(a) Pronoun (b) Adjective (c) Adverb (d) Verb [Ans: c]
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GST &N 3 HHEd: 3030-d

Rroler e AW G’ TS QRN IETR- [Ans: d]

(a) RS ZO! (b) WHIEH (c) 2xd (d) “ATHFIR

Ty oial FeAfRvmieTea G s i st ? [Ans: b]

(a) 7 (b) SN2 (c) T (d) ZerafE

TSR T W0 ICAMR TR O’ “efED Fita a8 mmicda (ol TEre & CoaR? Ans: d]

(a) @I T (b) &%y (c) TuriTS! (d) AT (oI fafzme]

HIP FAYI TR SRIZe- Ans: d]

() T (b) AT (c) Cooiem (d) S

& I AL ? [Ans: a]

(a) FANZ (b) VIS (c) frea (d) #If=r

TR A’ I gizive =d- [Ans: c]
(a) ©IT (b) SifSETey (c) BIEFIR () «feefa

Qi< forals Sarzael- [Ans: b]
(a) (%0 I €Tt (b) SGHIBT BT A |

(c) ST 1% C4=TH | (d) G (I TS |

‘AR’ *Jfoq % THIFA- | [Ans: a]
(a) *RIR OMEIRCR (c) “farey (d) o=

T HORAIB =¥ (L ? [Ans: c]
(a) reife (b) CeTCeT (c) &7 (d) Wi

GF% N0 w1 it e gaate B 0 [Ans: b]
(a) FTAS OX5IREE () ToIRTer (d) 4=
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0 AT FETT BT T '@ Biot AT ST TAFTT 327°C '8 127°C 1 2RI wivt B e 4500 ]
O &R T g Ol SIS AT LA G2 SRPIL Ol Sf2e I8 0 | IR Sieetz «Afamet v 7 ()2
(a) 1500 (b) 2000 (c) 2500 (d) 3000

AR (d); 2 =2 B0 ___B . o, = 3000 ] 2z I SToE A5

Ty To 327+273  127+273

CFI Y DR (SW ST HACHCH (@7 [Ans: c]
(a) ST - (b) -G (c) s (d) fRo1

GFf6 p-BizA S4#ifFiR viek- [Ans: c]
(a) TP (b) €HIq®

(c) T (d) AT LG T AT
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26. L 101 38 | 20M gorgg 99 L8 M e T<e] Getaid oo ST (2)?
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(a) 20 (b) 22 (c) 25 (d) 30
AAYA: (a); Reg =10+ (371 +371+371)71 + 90 . Req =200
28. 22«3 YO R AT T B o TrEH R Ty A2 AT 2007 [A = STy @R_n=0,1,2....]

(a) nA (b) (2n—1)A (c) (ZHH)?‘ (d) 2n+1)A [Ans: ¢]
29.  6.63 x 10717 | *fGRMF2 FIOrR Sa#n4J T nm?

(a) 300 (b) 600 (c) 800 (d) 900

STA: (a); E = 2 o o = S8 20940 109 ym . A = 300 nm

31, 0 QRCGITSH A1 Trafers gl (AT S S e -
(2) CFIBN I ¢ (b) CFIBH fHead e (c) *If& coirge <71 (d) =iafe &

AL (b); Craiere Sg| (AT G S WA *fe [iFad S
32, g-TOrE AR 30° T ST #Ht G 2 kg SR TG 3 ms—2 GAc BoITe T o7 T TS oo (N)

o7 TH 00 7
(a) 6.8 (b) 11.8 (c) 12.8 (d) 15.8
< ]
. W = mg = TgFIGHS ST+ 95
W- . ol 0
1) e a = 3 ms~2 QA BIITS TJ |

v
W

F~Wsin30°=ma .. F = mgsin 30°+ ma = (2 X 9.8 x-;-) +(2x3)N~F=158N

34.  5kgSwEd GFi6 I8 1.2 ms ™! (@ OB (A FTHSI 41T (ATF 0.8 ms™! @} 543 foiees fova S 3=
9IS $© Ns 247 '
(a) 4 (b) 5 (c) 6 (d) 10
FAH: (d); Ft = m(v—u) = 5(1.2 + 0.8)Ns = 10 Ns

35. A'¢ B ATAEA SF G M 6 2M, IR I THCT R '8 2R T OIS SOTEE QAT SqAS g, : g T2
(@l:1 (b)1:2 (c)2:1 d4:1
TR (c); 2 = 2 Ay Rs Mx(m) =2=12:1

RZ Mg 2M
36. JTHe! ¢AtET qE (5?7 [Ans: b]
(a) ML~2T-1 (b) ML™3T1 (c) ML™T (d) ML™1T-3
38.  OFIC MIEICTR RITAd AN FASHEAT 10 m =51 OFTD W G AT 30° (LY WT© TR | 68 ke OEF 4T [E 12
kg ©R & P72 19.6 s @ 12 QW 77 Bt | @ I T G5 (W) o] et SErs?
(a) 200 (b) 300 (c) 400 (d) 600
AAYI: (a); (NG ©F, m = (68 + 12)kg = 80 kg

mgl in® (ﬁﬂ+1z) 9.8X%10Xsin 30°
P= sin xl:ﬁ xsin WP =200W

T | )
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wmﬁﬁwwwwﬁwq X = 2 sin 3t Q3 e &9, k= 30 Nm"“Wt:Eﬁm «q faeg
% F© GIF7?

(a) 40 (b) 45 (c) 80 (d) 90
:mrﬂﬁ:(h);E=-§-}m2,t=§mx=25in(3 x3)x=v3:E=2x30Xx3]=45]

40. 10 TR SwerTE 37 A 300 K SAIAN 16 g S ¥es @ biof &7 ¥F 61, 992 2 @I SNy TS 19
BRI AT GD2 Biol dHe Fa(I?

(a) 14 (b) 16 (c) 18 (d) 32
SANIYI: (a); WR@ICETER S, V, =V, =10L; T, = T, = 300 K; m, =7; n, = 28

WA &AT, V, = 10L; Ty = 300K; m, = 16g:n, = 32;

PV, _ PaVs - 16 __ m | —
— ﬂnl—nzﬁ'ﬁ-zﬂ"m"lq'
n, Ty npT2

== TIY: 0, O e AT = 5 = 0.5 mol
s N, G9 G A7 = 0.5 mol
TI=05x28g=14g
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25. O ms™! QU G0 IoT ©OCEA TS Fewel et 916 1s 27 -5 Brta wieiea?
(2) 2.45 (b) 3.8 | (c) 4.9 (d) 9.8
TAYA: (c); T = %“ = u =22 ms™? » u = 4.9 ms~! @I B FTF TS T

27. 0.5 mIILTH SR_(FS v’ {6 AN ©itaa Torwa 4y W 10 A [Rgye e7ifes zr5s1 ToF ©itad iy 0.5 m &
TR LT fEFareT It Wi TS W8T (N)? [ = 41 X 1077 TmA™1]
(a) 4 X 107° (b) 2 x 1075 (c) 4 x 10~* (d)2x10™*
TAYE: (b); G, ©Itga veJ, I = 0.5m
R 2[R, I, =1, = 10 A ; 94, r = 0.5 m
F= Hol1l2 e Ji= 41tx1077 x10x10 X05N~F=2%10"5N

2nr 21xX0.5
130. 2x107Y7CBIRE W6 F9t 4 X 10™° Wbm™2 T (519 0 137 SR8 T f85 (N) Io7 SIe< Fa?

(a) B x 10726 (b) 5 x 1078 () 2 X 108 d) 0
Aqii: (d); F=qvB;v=10:F=0; QRY T SB v =0
TOAR FICHI T o] FHLI A |

33, @3 ISR PG (2.0 £ 0.1)m YTF PSR (AT BTk T rowdl i 597
(a) 5 (b) 10 () 15 (d) 20
A (b); A = 4mr? = 2 =2 =2 x 22 = 0.1 = 10%

37, a6 W T waeors AT SI GFCF y = 2 sin(120t — 4x) T @7 JRF @1-
(a) 30 (b) 40 (c) 60 (d) 120
A (a),—v-— 120 §=f_19098Hz —=4.)= -,v——m 30 ms™1
Rewt ot T=4 =2 ="; ""'T“v_1zu=w_125‘3x- v =30

et st y = 251n(120t— ) =y = 2sin{4(30t - )} Gy = asin {2 (vt — x)} % ST el e
M, v=30ms"
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X G Y ARNIGE0e 74438 B Ty it 8 b Srea witg | X 8 Y M #ifee @i AT E-

(a) X;Y; (b) X, Yg (c) XY; (d) X3Y5
TG (a); X 062G WIF F909 2Aitd, Y R0 G &= F90S #iitd | G0 X @3 6 e Y @7 ot
1] ST |

MnO, @3 BATERETS KCI0; (& 58S T WS S sy 27 | Beriife sifsrenad »ifswid 96g =1 @ fKierar

Teoire KCI(M = 74.6) 97 =ifFse 37 g?
(a) 74.6 (b) 223.8 (c) 37.3 (d) 149.2

A
TN (d); 2KCI03 > 2KCl + 30,
= 2X74.6 I%32

=149.2g =96g

G SR ST I qF & AT 8 GF o9 TAET e CleT | SA{eAL 2
(a) R-TNRATTCE- -2 (b) RS
(c) O-Z=Ee-3-2 (d) 3-RrZAREs-2-2

CHj4 CH3

| ccl /0 ZnA
FAYE: (d); CH;CH = CCH; + 05 — CH3CH \(]:Cth—% CH,;CHO + CH3COCH3 + ZnO + H,0
2

| ]

O—20
57 R SEiea giEet Sy 2 Rfera cvm w<ivers Jiery 2 7
(a) CH5CH,CH,Br (b) CH CH(CH5)Br
(c) CHsC(CH5),Br (d) CH4CH,CH(CH5)Br
ATY: (a); 1° RX 748 wAfer
Hif4F S SRR GHb? [Ans: d]
@ @
(a) CH;CH,CH,CH, (b) (CH3),CH (c) CHE%HCHE CH, (d) (CHg)ZECHzﬂﬂg
@ @10 “EoE AL TN ? [Ans: b]
(a) C4HoOH (b) (CzHs),0 (c) Cz;Hs00CCH; (d) C3H,CHO

I @M T G0t BaCl, T Q7 FRCT A SYETH! #1%eT At HCl(aq,) @ GI® 2o 71 | #<eS fAralf
ANFIH ETIET 2o 9 e e | Sty S 2

(a) CuSO, (b) Na,S0, (c) NaNO, (d) Cu(NO,),

SR (b); PR =195 ermET =@ 3¢ — Nat

BaCl, Qe AT S(4st% 8 HCl @ SGRAT — S02~ + @i Na, S0,

CH, = CH, 9 131 27919 sp? I U3 e ae T3 iaaEs Te=e] Fiedld i 90 317

(2) 90 (b) 120 (c) 109.5 (d) 180

TR (a); TP sp? @ SFH(S P, GTF SRR AATTE TFOIE S_GH I |
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GST 3R TR —/4 | / //I _ | GST &3 JHIEH: 3030-d
Mg(OH), % TIATe! % 2.0 X 107 | &3t pH 10 20 ©ite Mg?* @ IANIE TS mol/L?
(a) 2.0 x 1073 (b) 2.0 x 107" (c) 2.0 x 102 (d) 2.0 x 10~7
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FAIY: (a); Mgt WA g @l = x; pOH=14—-pH=14—-10=14
[OH-] =10"POH =107*M =~ xX (107")* =2 x 10711 = x = 2 x 1073
9.65A ©f%R 4000 s KTF CuS0, BT o7 ey eifEe a1 zrer TS F© g Cu Tl T2

(Cu 99 #=9f<E ©F = 63.5)

(a) 9.65 (b) 6.35 (c) 12.70 (d) 3.65

ST (c); W = ZIt = ——=— X 9.65 X 4000 = 12.7g; Cu FIRITS &I 274 |

@D IR ofos gt At Fw=?

(a) 1s%2s5%2p° (b) 1s%2s5?2p®3s? (c) 1s22s22p* (d) 1s22s22p53s22pS

T (a); 1s%2s22p° GRIF AT 3031 @fb J1f3T ofe deite Gt

35°C SIANI@N 2 g CO, 97 fonfe 2 (R = i s &7a4)

(2) 10.5R (b) 21R (c) 42R (d) 63R
FANIL: (b); E=§nRT=§xf::~<RKBDB= 21R

0.1 M SiFA0F «ife Taees Aicd 19 #{ffwiet 0.1 M @Enifeary spifiees rad Mk st e pH < 29?
(K, = 1.0 x 1075)

(a) 5 (b) 6 (c) 8 (d)9

AAHE: (a); pH = pK, + log [[523532;5 —log(10™°) + lﬂg =5

HPO,2~ 93 S @@ "Hid (G ? [Ans: b]
(a) H,PO,~ (b) PO 2" (c) HPO2~ (d) H,PO4~

@M Ty Siaw?

(a) Al 03 (b) N 05 (c) Na,0 (d) H,0

TAE: (a, d); Al,0; FIER AL T 43 27 0 € S0 AN FIRY 45 2w 3ea )
H, 0 Ty «wrd 1 ufSTes wite =11 e, s e uffte e siw 3@

H,S @ H — S — H 99 (FIT9F NI« 97 [Ans: ]
(a) 180° (b) 104.5° (c) 92.1° (d) 109.5°
PTG S AT &iel?

(a) (CH;),CHCI (b) CH3CH(CI)CH,CH,

(c) CH3CH,CH,Cl (d) CICH,CH,CH,C]

STAHIR: (b); CH, CH(CI)CH, CHa— 13315 3147 TR

QARG ~Aref§s Ifiea “nes Fifsced sy @b woe? [Ans: c]
(@)n; =1,n, =2,3, (b)ny; = 2,n, = 3,4,

© 1y =3,n, = 4,5, @y = 3,my = 1,2,

RRbTS S ZRGIe 99+ (oal 74 77

(a) FIERTRfE Wfte (b) 2-TI3THITHwET

(c) 4-NIRGITFe (d) 2-cPIeaiTTEe

FAHI: (c); —OH 8 —NO, e TG 7Y QR O | Srgseieiie qm =0 411

OH
Option (d) '@ Answer T[S A FA¢, @’ “ dnt H-3%A tofd @ =t

R | )
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53. Gl 2y ow i [RiEaeea 99@l 60 s 9@ 2.0 mol/L &% 1.0 mol/L @ (e St | [{fssess wasiat
0.5 mol/L (/TF 0.125 mol/L 9 (T PSS 9 s Y =7

(a) 15 (b) 30 (c) 60 (d) 120
(d): t = L]p 20 A . b= i 05 =
Y (d); t = I{ln A': = k= == ln1 = 0,01155; t = n.ussln —— =120
2 » 160 sec ST4Y; 0.5 »0.25 > 0.125 - Total = 120 sec.
0 t

60 sec 60 sec

| e (e 7 Rew ter firsz) |
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61. 2=—-1zir§1" i° i3 4i%=?
'? i5+i?
(a) -1 (b) 0 (c) 1 (d)1
T (b); i2 = -1, = —j,i* =1, =i,i’ = —i
i i i+ i —i 0
i’ P+P|=-1 1 0]=0
i° {7 5477 i —1 0
63. ﬂﬂ‘cusx-i-cusy:pﬂﬁ&smx+siny=q’{ﬂ,mtan%=?
2 a P a
OF O ©5 @)%
HAJHE: (b); EDSI{-[-EDS}?'=]JﬂZCUExTﬂTCDS}:—F=IJ'"(i)
sinx-l—siny:q:Zsinx—;-Ecus%:q---(ii)

(ii) ~ (i) = tan? =%

64. CFIH TS x> — mx? + nx + r = 0 AAFACER G20 T AAB *F7 Q?

@mn—r=0 (b)mn+r=20 (c)mr+n=20 (dmr—n=0
ANIA: (b); ¥, TT@F a,b G cl a8 b G ANFT 0|
atbt+c=——=m=0+c=m=>c=m
ab4+bc+ca=n=ab+c(b+a)=n=>ab=n
abc=—-r=m=-r=>mn+r=0

65. lﬂmm:(sinua-:) =7
(a) cotx (b) — cotx (c) sec?x (d) cosec?x

d
=(sinx)  cosx

ALY (b); dr:us:ﬂ: (smx) m i —Cotx

67. W [ @ (X)dx = In(Inx) + c T, C‘I’EI'I‘C"{U G &9F, BT p(x) =?
(a) xIn(Inx) +x ®) = (©) (d) xInx
ATHE: (¢); [ ¢ (x)dx = In(Inx) + ¢ = $(x) = -;—H[In(lnx) +c] = 'min'l' 0= H;,x

v =/
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=y

68. (0,—1) g @y = 1 FTFETCAT (AT NN IO RV 71 =4 (02
(a)y? +4x =0 () y* —4x=0 (c) X% + 4y =0 (d) x? — 4y = 0
HAYI: (c); TR ] (x,y) |
J(x—n)2+fy+1)2=Iy—1|=>x2+y2+2y+1=yz_zy+1=>x2+4y=g

69. /3 GFF CATIR o ST JOS mgmq%ﬁ.%wwwwqﬁgw?
(a) (b) 3m (G)% (d) JV3n

THYI: (b); 5@ VT, 26 a AT TS (@1~ 6 @ R#IA© g b1 ©IR cosine A AT T A

L2

Z
202K 1 2a’—(V3
cos— = = === (v3) =a2=232—-3=232=3=2>a=+/3
3 232 2 2a?

~ CPOGe] = ma’ = ﬂ(ﬁ)z = 37

71 £(x) =x +=,x > 0 T 51 {7 A ?
(@ (1,—-1) ®) (-1.2) (©) (1,2) @ (2.2)
W:(c);f(x)=x+i,x}0=bf’(x)=1—%=D=>xlz=1=#xz=1ﬁx=l(x:-0)

1 —
~ TR RS f(x) = 1+-=2 ~ 5 97 (1,2)
73. TWrsec™13 =tan"1x T, ©F x U9 I F97

() 3 (b) V3 (c) V2 d) 22
SR (d); é‘: :
]

1
tan 'x=seclVi+xZ=sec13=2V1+x2=3=214+x2=9=3x2=8=x=22

= i (32-12=2\2 sec™13 =tan™'x = tan~'x = tan™! (¥ =x =22
1

74. W6 (S%A U @92 V G TGIO! (P FO A U -V = 9 I [0 x V| = 3v/3 TI?
@3 OF, ©7F @)=
AL (¢); |U X V] = uvsin® = 3v3 - (i)
U.V=uvcos® =9 - (ii)
T

)+ (i —l_g=T
(1)-(11)=>tanB-ﬁ=~B—ﬁ

75. f(x) = In(sin x) TG @A LTS F@fre?
@ (-%,0) (b) (0,) © (3. 2n) @ (-33)
ANYIR: (b); f(x) FeGiE® Za T sinx > 0 O (0, ) I3 Fewifire 711

L /> /)
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76. y=(x—2)(x—3)—x+7ﬁm°lﬁ§@ﬂﬂﬁﬁ‘c€m4?

(a) (2,3) (b) (2,7) (©) (3,7) (d) (5,8)
T (d); y = (x—2)(x—3) —x+ 7 =x*—5x+6—x+7
_—_32—65{-1-13:}3;’=2}{—ﬁ=4:?2}{=6+4=?1{=5
ny=(5-2)(5—-3)—-5+7=8-1W (58)

77. (y+\/§)2=8(x+3) FIFCEA TATICTT TR BT (PG ?
@ (2-3) ®) (23.5) © (2.2 @ (2v3.5)
I (¢); (y+v’§)2 =4 x2(x+3) = Y% =4 xaX ; &AFH (a,0)
X=a=>x+3=2=2x=-1

A
Y=0=2y+V3=0=>y=—/3 —1 !
>X
r=.x%+y2=2 -—-"ﬁl)g
E=tan‘1':£=1t+-g=4?“

+ BoTFTER IR BT (2,7

78. /p+4i=q+iTAp — q 9T TFFS?
(a) 0 1 (©) 3 d) 5
Wﬂﬁ:(b};m=q+i=}p+4i=(q+iE=q2+i2+2qi=>p+-ﬁl-i=qz—1+2qi
a¥q, 2g=4=>q=2;p=q*—1=22-1=3.p—q=3—-2=1
79. W cosB + secB = 2 T, O cos> 0 + sec® 6 OF V[F F©7
(a) 1 (b) 2 (c)3 (d) 8
HAAYA: (b); cos3 0 + sec® @ = (cos8 +secB8)® —3cosB-secB(cosB+secf) =23 —3X1Xx2=8—-6=2
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62. R 97 G BT S = {*:n & N} 7 7209 fwsi 797
(a) -1 (b) 0 ()1 (d) oo
05 = £, 2, ) e i =

66. AR AR [x — 1| = 1 TATSR A G76 FHT?

@ [-1,1] (b) (—00,—1] U [1,00) (¢) (—o0,0] U [2,00) (d) [0, 2]
AW (c); [x— 1|2 1=2—<12-1<—<1

IH-‘|_ x—1
1S <1
=>x—-1<~1, x—12>21
=»x<0, X=2

~ NG (6 = (—o0,0] U [2, )
70. 75 AT AT 7T 26 QIR NG AILF 5 T R4 7' 7

(a) 16, 36 (b) 12, 40 (c) 20, 32 (d) 21, 31
TIYF: (d); Option check.
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GST a5 ZIRT i/ /

X

72. x}ﬂ;ﬂi{'@ﬁ]l+2§—+3 '-_:') +4 (l-l-x)

/ [ GST S 3 AN R00-
=7

(d) (1 +x)?

@) 7 OFre ()
A (d); (1 —y) ™% = 1+ 2y + 3y + 4y +...

-2 e\ —2
&G AR A QR MR, y = 7o (1—y) 2 = (1-2) 7 = (B 7 = (1 4 x)2

1+X 1+X

80. (x —3x+—-——1-) a3 fFfere x aftte *miG 57

(a) =20 (b) —6 ©) 6 (d) 20
1 3

AT (a); (x3—3x+§-—x—3)2 =(x3—;15.-—-3x+-)2

X

=fe - (& —axx a3 (B = {2 = (e-)
Tryq = °CoxST(—=1)"x " = 6C.(—1)Tx6-2r

G, 6 —2r=0=2r=6=r=3 = x 3 oW = (—1)% C, = —20

- SRR (0 % 5 = 0)

[ Short Syllabus ]
81. FIB mRNA-GF 57 FEETTTR T UGG @lEf UGA- (o +ifFafee z=, g &R 95ts “i@?

(a) mRNA (It (A6 ¢S 73 FHTTI &fersr ey I [Ans: a]
(b) BT IS Jiias 7=
(c) Frorf-GrTEreme *iafs qtas o
(d) mRNA 6 tRNA (® Fi8fde 24

82. (AIIFF (FIFA (FIT SI2ATH (AT T& A? [Ans: a]
(a) RT3 725 (b) ferefg= (c) ARBreTET (d) FefEFaE cem

83. TOWmY S (Sfg oWy TN IH ANGISY (PG ? [Ans: b]
(a) GO (b) “iEic (c) ST (d) TS

84. IFRAT R fTITCTT TSl I FAG? [Ans: b]
(2) STBIFI (b) FRf2ATT sy (c) ST (d) THRTF

85. (IHIG CAIATT e (T2? [Ans: b]
() LI (b) GoTI (c) GIRGI (d) MCBIHRT

86. AT eftwre-5 O I YITo] FIREIBT (7T T2 [Ans: ]
(a) GBI (b) ST ORIISIEE| (d) feraifo

89. (TR (AR qEH! Of 53T CofF I3? [Ans: d]
(a) FewGr (b) AT (o) eI (d) T35

9. HiveE eivaa caiftw F13fE acea? [Ans: a]
(a) TSI (b) TN (c) MRTGrfgar ORGIEEE:

92.  WRBIPET @1 4itel Cegime Rerem oF 7 [Ans: c]
(a) cIeTe (b) C2I-CIOITE (c) CIBTTeE (d) COTETITTe

NI, [ - /)




GST 8t SIRT // T% // V/" GST o 3 HHKIe: 00-3>
04, (FHC AT (A 755 2 [Ans: b]
(a) 9FTH TAFS (b) TSIR TAFO (c) TSR WIS (d) 9T TAFS
05. IR WA (FIZ TOFEOOIT (OfF T (FIHG? [Ans: a
OEESED (b) RS (c) @fBrem (d) FTRCACEIT
06. <ifia Cofite IT® YASIRCTH AN~ [Ans: b]
(a) oo (b) A (c) FTIBITTS (d) CoITAZA
97. SBTHEIRFPE @I sNte 2 ? [Ans: c]
(a) RSlgam (b) MR AGA ORIEWGEIE (d) R
98. (ML FAGH S&n? [Ans: d]
(a) AN (b) 4 (c) 71 (d) RS
90. WWW@?@'? [Ans: ¢]
(a) Spirillum (b) Pseudomonas (c) Vibrio (d) Sarcina
100. R R G AT FAEE LT 27 [Ans: ¢]
(a) AIgET (b) =T (c) FeT (d) ==

[ Extr; Syllabus ]

87. (I (ST oM 251 «fte Qits? [Ans: b]
(2) i<t (b) ST (c) R &SI (d) feBifim

88. AT SHIMIRET A CSTe! i S T (F IH0H T& 7 [Ans: a]
(a) CA=(GIZT (b) FEEETERS (c) a5 (d) Z2TEITE

90. &INF SHACeR @S 9 0?2 [Ans: b]
(a) A (b) FREA(E (c) RATQ =& (d) @i Rrefoes

93. I TRFA I TS LA AN FA? [Ans: a]
(2) GTCE=A (b) GRS () TG SJeTleatiB (d) ToIRES

[ Short Syllabus J

101. <> OB AT GBI B AT FTa7? [Ans: a]
(a) Frate (b) = (c) AR=EL (d) Y

102. for (i=2 ; i<=5 ; i++) {if(i==3) prin{f(**Welcome to University!”)} «% 22T FBTS ‘printf)’ COBTO0H
T4 QfEFOs 73?2 [Ans: a]
(2) 1 (b) 2 (c) 4 (d)5

103. C SIEg (1/24pow(8, 0)+5%2+10) &7 1 244 Hedry 67
(a) 12 (b) 13 (c) 19 (d) 20

TG (a); 3 + POW(S, 0)+ 5% 2+ 10= 5+ 804 L4+ 10 =34 L +1+10= 12,5 ~ 12 [0, “4e1earm]

| D) [ /




/ // GST 2 8 I 00-3D

104. WWWWHW'? [Ans: a]

(a) 125 (b) ]9 (c) BB (d) AATH

105. ¢ e (raie (@t LTE (Long Term Evolution) 51ieié wege T4l RRCR? [Ans: d]
(a) ST (b) ¥ (c) ©F (d) 84

106. G0 Citizen Database-4 @0 AIRIE- < RS AlLq? [Ans: d]
(a) AN (b) T (c) &= (d) NID 199

107. mﬂmwﬁiﬁmmmﬂmw ARNSCE P L7 [Ans: b]
OICRISIIH (b) fEaife (c) IS (d) fer=ifer

108. HTML &® <p>CH<sub>3</sub>CH</p> qq Fe{[Fe| @G ? [Ans: b]
(a) CH3CH (b) CH;CH
(c) CH3CH (d) CH

109. (G @A FIOBR?
(a) R ST (b) MOD-10 ¢S4
(c) e SIeT= | (d) IR
AAEA: (c); [ 8 MOD-10 FICOE Pt =i S84 1

110. (1F);6 99 ALY 1 (19 S0 QAT F© A7 [Ans: ¢]
(a) (HF)46 (b) (2F)6 (c) (20)16 (d) (21)16

111. I I W e SRR 7 [Ans: c]
(a) BCD (b) ASCII (¢) UNICODE (d) EBCDIC

112. UPDATE @32 ALTER $qd I (FF YACTE COO0 7 [Ans: a]
(a) DML ¢ DDL (b) DDL ¢ DDL (c) DDL ‘¢ DML (d) DML € DML

113. WiMAX 2gf&rs 5@ @aia (RoIe) 397 [Ans: d]
(a) 10-50 (b) 100-500 (c) 1000-5000 (d) 10000-50000

114. CIIF AIG FICHC IG7?
(a) (100000), (b) (32)10 (c) (40)g (d) (24)46

AqYE: (d); (100000), = (32)10; (32)10 = (32)10
(40)g = (32)10; (24)16 = (36)10

115. @A EA @eE @R @e g FE? [Ans: d]
(2) FATRER (b) T BTG (c) WHIFEI (d) S

116. (I Swenae fofve fifoe 2yivesd 797 [Ans: a]
(a) CIAGASHIA (b) STATH (c) & (d) &= G

117. (AB).(A + B) 92 AFAIPS T« F©7? [Ans: b]
(2) A+B (b) ADB c)A+B (d) A®B

118. (AT ©IBIATEE HITHLA 4G CIbT BigA? [Ans: d]
(a) (G (b) A7 (c) TR (d) GTet

119. T2 19 TR 24 A (AT (A7 eAF G C S (I CHOTTE JIgo 27 [Ans: c]
(a) continue; (b) goto; (c) break; (d) getch;

120. SRS qFem FRECS THe Fad o (@ O e 7 7 [Ans: a]

(&) OTA (b) o7 (0) ST =) (d) e

Va4




